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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

1-1 omitted all the extraneous details while explaining the....... of the matter to him.
1) Breach 2) distinction 3) qualm 4) gist
Y (zaomo Gwly

2-While his brother writes in an unclear and clumsy way, Sam himself is known for his
............ style of writing.( www.iranarze.ir)

1) Lucid 2) verbose 3) dull 4) feasible
Y gm0 Gl
3- Poultry farms place the eggs into incubators to............ the growth of the embryo into

chicken.(www.iranarze.ir)

1) conquer 2) hasten 3) outline 4) elude
Vg Gy
4- With as many as three witnesses giving evidence against her, the............... of her claim that

she was innocent was in serious doubt.(www.iranarze.ir)
1) demonstration 2) paradigm
3) veracity 4) empiricism
) igee by

5- 1 did not like her way of teaching because her lecture had too many digressions; she kept on

wandering to various subjects, most of them not ............... to the central idea of her topic.
1) vulnerable 2) peripheral
3) pertinent 4) loyal
¥ igae gl
6- With the advent of electric bulbs and emergency lights, the use of gas lamps became ............
1) imprecise 2) repetitive 3) idealistic 4) obsolete
Vg Gl
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7- The employee did not believe the implausible story that Janet................. to justify her
absence from work.( www.iranarze.ir)

1) Concocted 2) scrutinized 3) manipulated 4) reassured
Y iz Gwly
The doctor has advised him to.............. adhere to the prescribed regimen; otherwise, there is a

danger of relapse of the illness.( www.iranarze.ir)
1) sequentially 2) strictly 3) ineptly 4) selectively
Y oo &l

9- The.............. In her speech can put off almost anyone; she urgently needs to tone down the
harsh words she uses.(www.iranarze.ir)

1) explicitness 2) enigma 3) shortsightedness 4) acerbity
Y o Gl
10- He is so wasteful; he has............ all the money that he had borrowed from me, and is now

back again asking for more.(www.iranarze.ir)

1) allocated 2) neglected 3) depleted 4) accumulated
Vg &by

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Good learners work hard. A few things may come easily to learners, but most knowledge requires
effort (11)....ccveunnenens To put in the time. They talk with others, read more, study more and carry
around when they don't understand. (12)................. about it before they go to sleep, at the gym,
on the bus. Good learners are persistent. When they fail, they carry on, (13)......ccceeuveeee that
they will figure it out eventually. (14)............... , they learn from their mistakes. Good learners
recognize (15)............... always fun. But that does not change how much they love it.

11-
1) which is good learners willing 2) and good learners are willing

3) that good learners willing are4) willing are good learners

¥ o gty
12- 1) thinking 2) to think 3) they think 4) by thinking

) i Gl
13-
1) are confident 2) who are confident 3) they are confident  4) confident

¥ igeo &l

WWwWw.iranarze.ir
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14-

1) Although 2) In the meantime 3) A case in point 4) Whereas
Ve gl
15-
1) Learning not be 2) that learning isnot  3) tolearnnotto be  4) learning it is not
¥ izame gl

PART C: Reading Comprehension
Read the following passages and answer the questions by choosing the best choice (1), (2),(3), (4)
PASSAGE 1:

For the first century or so of the industrial revolution, increased productivity led to decreases in
working hours. Employees who had been putting in 12-hour days, six days a week, found their
time on the job shrinking to 10 hours daily, then finally to eight hours, five days a week. Only a
generation ago social planners worried about what people would do with all this new-found free
time. In the US. At least it seems they need not have bothered.

Although the output per hour of work has more than doubled since 1945, leisure seems reserved
largely for the unemployed and underemployed. Those who work full-time spend as mush time
on the job as they did at the end of World War I1. In fact, working hours have increased noticeably
since 1970__ perhaps because real wages have stagnated since that year. Bookstores now abound
with manuals describing how to manage time and cope with stress.

There are several reasons for lost leisure. Since 1979, companies have responded to improvements
in the business climate by having employees work overtime rather than by hiring extra personnel,
says economist Juliet B. Schor of Harvard University. Indeed, the current economic recovery has
gained a certain amount of notoriety for its "'jobless™ nature: increased production has been
almost entirely decoupled from employment. Some firms are even downsizing as their profits
climb. ""All things being equal, we'd be better off spreading around the work," observes labour
economist Ronald G. Ehrenberg of Cornell University.

Yet a host of factors pushes employers to hire fewer workers for more hours and at the same
time compels workers to spend more time on the job. Most of those incentives involve what
Ehrenberg calls the structure of compensation: quirks in the way salaries and benefits are
organized that make it more

profitable to ask 40 employees to labour an extra hour each than to hire one more worker to do
the same 40-hour job.

16- The new-found free time discussed in paragraph 1 was a result of ................
1) increased productivity

2) social planners' efforts

3) high rates of employment

4) increased demand for leisure

V imo Gl
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17- In paragraph 1, what does the author mean by stating, "'In the US, at Least it seems they
need not have bothered"? (www.iranarze.ir)

1) people didn't need increased leisure in the US.
2) Americans worried about not working as much as they used to.
3) Social planners shouldn't have been worried about increased leisure in the US.

4) Social planners didn't know that Americans would spend their free time so effectively.
Vg &by
18- According to paragraph 2, since the 1970s, salaries have............. .(www.iranarze.ir)

1) more than doubled

2) not risen significantly
3) decreased noticeably
4) had a strong correlation with work output
¥ igeme gl
19- A reason for lost leisure is that................ (www.iranarze.ir)

1) the economy has a jobless nature
2) extra work is offered to existing employees
3) employees value a career more than a family

4) many books try to help employees to manage stress

V igo gl
20- The word "incentives" in paragraph 4 is closest in meaning to ................ .
1) cases 2) contests 3) elements 4) motivators

Vg &by
PASSAGE 2:

All our business communication becomes useful only when it is written down and when people
agree to use the written documents and treat them as authoritative. We all like to believe that our
memories are clear and that there was, mutual understanding at meetings. The truth ___ revealed
by psychological experiments and studies ___is that even people regarded as having excellent
memories often do not, in fact, remember things correctly. To avoid confusion, disappointment,
and rework, put everything in writing.

The specification is the written statement of expectations. We should adhere to it and make sure
that the customers understand that they will adhere to it as well. This is a strict rule, but we can
present it in a very friendly way and be friendly and cooperative throughout the process. For
example, adhering to the written specification doesn’t mean it is set in stone. If, during the doing
stage, a customer wants a change and we can do it and if we agree on a time and a price, then we

WWwWw.iranarze.ir
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Our ultimate goal is to provide the greatest value we can for the customer. We are strict not
because we're selfish or we want to do less. We are strict because we understand that, to deliver
any value at all, the project must succeed. And project management is risky. In doing
communications management, we bring expectations under control, so that we can meet them
and deliver customer delight.

21- According to paragraph 1, in business communication, people with excellent memories ......
1) should be more careful to avoid confusion

2) can make better deals according to studies

3) should put everything in writing as well

4) should be present at meetings

¥ izume gl
22- The example provided in the second half of paragraph 2 ................ (www.iranarze.ir)
1) illustrates a statement made in the previous sentence
2) prepares readers for the following paragraph
3) describes that revisions are necessary to any agreement
4) clarifies that a written agreement should be followed under any circumstances

Ve by
23- The author believes that being strict in project management ................ (www.iranarze.ir)
1) is the ultimate aim of the customer
2) may pose some risks to the whole process
3) indicates the selfishness of project managers
4) increases the chances of carrying out a successful project

¥ igo gl
24- The word "them" in paragraph 3 refers to ................... (www.iranarze.ir)
1) projects 2) expectations
3) customers 4) communications

¥V igme by

25- The author's attitude towards writhing down a statement of expectations in business

meetings can be best described as................... (www.iranarze.ir)
1) mainly negative 2) partially approving
3) deeply skeptical 4) highly positive

¥ o &l
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